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Fourth Paper
(Group-A)
Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.
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[ENGLISH VERSION]

(Numbers of the margin indicate full marks.)

Section-A

Answer any ten questions: 2x10

(a) How is Human Development Index calculated?

(b) State the Verdoorn’s law.

(c) What is the common way of constructing a PPP ratio?

(d) What is meant by dynamic gains from trade? Give an example.

(e) Define Infant Mortality Rate (IMR) and Total Fertility Rate.

(f) How can you consider technological progress to be ‘Hicks-neutral’?
(g) Draw a Learning Curve and state its economic implication.

(h) How can you use the concepts of incremental capital-output ratio and investment-income ratio to
explain the ‘take-off’ stage?

(i) Distinguish between casual labour and long-term contract labour.

(j) Mention the three-pronged strategy for poverty alleviation as suggested by the World Bank.
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(k) Use the ft;llowing information to determine the migration decision of a rural worker:
(i) Rural wage rate = ¥ 100 per day
(ii) Urban wage rate = ¥ 180 per day,
(iii) Total labour force in the economy = 2000,
(iv) Rural employment = 1000,
(v) Urban employment = 500, and
(vi) Probability of getting rural job =1
(1) Explain the inverted — U hypothesis of Kuznets.

(m) In Lewis Model, why isn’t the entire supply of surplus labour absorbed all at once in the industrial
sector?

(n) Briefly explain the notion of ‘global public goods’ with an example.
(o) What is forward linkage effect? Give an example.
Section—-B
Answer any three questions: 10x3
2. (a) Economic development is a broader concept than economic growth. — Explain.
(b) Per capita real income of a country can not be considered as the true index of economic development
of that country. — Do you agree? Give reasons. 4+6
3. (a) Explain the concept of sustainable development.
(b) Discuss in this context the process of ‘green accounting’ for estimating sustainable Net National
Product (NNP) of a country. 3+7
4. (a) Explain the relevance of big-push theory in case of co-ordination failure.
(b) What factors are responsible for differences in technological choice between less developed and
developed countries? 5+5
5. (a) State some of the barriers to agricultural development in less developed countries.
(b) ‘Land reform measures are necessary but not sufficient for raising agricultural productivity’

— Explain. 4+6

6. Critically explain the role of capital accumulation as an escape route for the ‘diminishing returns’ and
‘zero marginal productivity’ in agriculture using a classical dual economy model. 10
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